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1. ø x eÑ�b, ú y �}, 1根W
¶d†J£úb

ƒbí�}t�, )

fy(x, y)

=
∂

∂y
[3xy2] · ln(x − y) + 3xy2 ·

∂

∂y
[ln(x − y)]

= 6xy ln(x − y) + 3xy2
(

1

x − y

)
(−1)

= 6xy ln(x − y)−
3xy2

x − y

yø,�ú x �}, e y Ñ�b, 1根W
¶d†, Î¶

d†J£úbƒbí�}t�, )

fyx(x, y) = 6y ln(x − y) +
6xy

x − y

−
3y2(x − y)− 3xy2(1)

(x − y)2

= 6y ln(x − y) +
6xy

x − y
+

3y3

(x − y)2

2. íl, °@äõ, óçkj

fx(x, y) = y − x3 = 0 (1)

fy(x, y) = x − y3 = 0 (2)

â (1) �, )

y = x3
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Hp (2) �, )

x − (x3)3 = x − x9 = x(1− x8) = 0

],

x = −1, 0,1

ú@í

y = (−1)3 = −1, 03 = 0, 13 = 1

J£ú_@äõ

(−1,−1), (0,0), (1,1)

QO, Û根Wù階Rûƒb�ì¶ð„. âù階Rûƒb

fxx = −3x2, fyy = −3y2, fxy = 1

)‡��

d(x, y) = fxx(x, y)fyy(x, y)− [fxy(x, y)]2

= (−3x2)(−3y2)− 12

= 9x2y2 − 1

Hp@äõ (−1,−1), )

d(−1,−1) = 9(−1)2(−1)2 − 1 = 8 > 0
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¢

fxx(−1,−1) = −3(−1)2 = −3 < 0

Ç$-凹, ]Ê (−1,−1) �óú|×M

f(−1,−1) = 1−
1

4
−

1

4
=

1

2

Hp@äõ (0,0), )

d(0,0) = 9(0)2(0)2 − 1 = −1 < 0

]Ê (0,0) Ìóú”M,

(0,0, f(0,0)) = (0,0,0)

Ñø鞍õ.

Hp@äõ (1,1), )

d(1,1) = 9(1)2(1)2 − 1 = 8 > 0

¢

fxx(1,1) = −3(1)2 = −3 < 0

Ç$-凹, ]Ê (1,1) �Çø_óú|×M

f(1,1) = 1−
1

4
−

1

4
=

1

2
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